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LATTICE STITCH KNIT BLANKET   

SHOP KIT

MATERIALS

Bernat® Tweedie™ (6.4 oz/180 g; 247 yds/226 m)
Sea Salts (02004) 6 balls

Size U.S. 10 (6 mm) circular knitting needle 40" [101.5 cm] long or 
size needed to obtain gauge.

MEASUREMENT
Approx 52" [131 cm] square.

GAUGE
12 sts and 28 rows = 4" [10 cm] in 
Lattice Pat.

INSTRUCTIONS
Cast on 139 sts. Do not join. 
Working back and forth across 
needle in rows, proceed as follows:
Knit 15 rows (garter st), noting 1st 
row is WS. 

Next row: (RS). K10. *Kfb. K5. Rep 
from * to last 9 sts. K9. 159 sts. 

Proceed in Lattice Pat as follows:
1st row: (WS). K9. *Sl3Pwyb. K3. 
Rep from * to last 6 sts. K6. 
2nd row: (RS). P9. *Sl3Pwyf. P3. 
Rep from * to last 6 sts. P6.
3rd row: Purl.
4th row: Knit.
5th row: Purl.
6th row: K10. *Insert right-hand 
needle from front to back under 
horizontal strands below and knit 
next st on left-hand needle. Pass 
strands over just-knit st. K5. Rep 
from * to last 5 sts. K5.
7th row: K12. *Sl3Pwyb. K3. Rep 
from * to last 9 sts. K9. 
8th row: P12. *Sl3Pwyf. P3. Rep 
from * to last 9 sts. P9.

KNIT  I  SKILL LEVEL: INTERMEDIATE

SUPER BULKY

6
ABBREVIATIONS

Approx = Approximately
Beg = Beginning
K = Knit
Kfb = Increase 1 stitch by knitting 
into front and back of next stitch
K2tog = Knit next 2 stitches 
together
Pat = Pattern
P = Purl

Rep = Repeat
RS = Right side
Sl3Pwyf = Slip next 3 sts purl-
wise with yarn in front of work
Sl3Pwyb= Slip next 3 sts purl-
wise with yarn in back of work
St(s) = Stitch(es)
WS = Wrong side
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9th row: Purl.
10th row: Knit.
11th row: Purl.
12th row: K13. *Insert right-hand 
needle from front to back under 
horizontal strands below and knit 
next st on left-hand needle. Pass 
strands over just-knit st. K5. Rep 
from * to last 8 sts. K8. 

Rep last 12 rows for Lattice Pat 
until work from beg measures 
approx 49" [124.5 cm], ending on 
a 6th or 12th row of pat. 

Next row: (WS). K10. *K2tog. K5. 
Rep from * to last 9 sts. K9. 139 sts. 

Knit 15 rows (garter st). 
Cast o� . 


